JAPAN CUP[#]2E XK= [FOv/illERIR]

%1 Eité 2010478 3R %'ZEEQ‘S' 201027830 %3%—&% 2010478 3R %4Eﬁé 201047848 201047548

— [A70v 7] W [A70v 7] — [A70v 7] W [A70v 7] — [A7Ov 7]
oy EFZL B | HFEE | E=2(g) oy EFA Bror | HEE | EE2(g) Tuiry EFZ B | HEE | E=2(g) oy BEFA Bror | HEE | EE2(g) Tuiry EFZ B | BEE | EZE(g)
1 8 RE F 800 | 1563 | 1,919 1| 20 e RH 800 1685 1954 1 6 M = 800 1527 2027] 1 3 HER bl 800 1439 1436 1 4 il ® 800 | 19.04 1,727
2| 4 Il ® 700 | 1526 1873| 2| 18 Pk =— 700 1487 | 1725 2 | 21 fiE] A By 7.00 1468 | 1949] 2| 20 e R 700 1438 | 1435| 2| 15 ik 1E— 7.00 | 1375 1,247
3 2 H %H— 6.00 | 1428 1,753| 3 | 11 s —=% 600 1480 1717| 3 1 /NET - FBA 6.00 | 1414 1877| 3 8 HE = 600 1401 | 1398 3| 11 5 —=x 6.00 1313 | 1,191
4] 6 M = 500 @ 1342 1648| 4| 17 BiR BH 500 | 1469 1,704| 4| 2 H %H— 500 1399 1857| 4| 12 BKR F— 500 1392 1389)] 4| 17 HR IBH 500 | 11.73 1,064
5] 1 INET - FO8A 400 1307 1605]| 5| 12 BK F— 400 1225 1421 5| 14 =15 S 400 1382 1834| 5| 18 Pk =— 400 1329 13275 19 #EmO &KX 400 1163 1,055
6 7 Z2R =X 300 1266 1554| 6| 10 BH =% 300 1079 1252| 6 5 X¥F EiE 300 1213 1610| 6| 10 BH =% 300 1316 1314| 6 7 ZR =2 300 10.66 967
71 5 X¥F EiE 200 1015 1246 7| 9 FH @A 2.00 8.01 929 7| 13 WA E— 2.00 898 | 1,192| 7| 23 BiE #A 2.00 854 852 7| 24 W M= 200 1036 939
8| 3 L %] 1.00 552 678| 8| 19 EO KK 1.00 773 897 8| 22 & EE 1.00 699 928| 8] 16 E¥ BE 1.00 832 831| 8] 9 FH f#a 1.00 968 878

- [B7avY 7] Btz [(B7avy 7] - [(B7av 7] Btz [(B7avy 7] - [B7avY %)
Ty EFL B | HFEE | BE(g) tusry BEFA B AUb HEE | EE(g) Ty EFZ B | HFEE | BE(g) oy BEFA B AUb HEE | EE(g) Ty EFZ B | HFEE | BE(g)
1] 14 =15 BE 800 1500 1,703 1 4 10 H® 800 1696 2056| 1| 18 Rk =— 800 1603 1878] 1 1 INET FN5A 800 1736 1,762 1 6 N S 800 1731 1728
2| 16 5% RBRE 700 1450 1646| 2| 2 A H— 700 1475 1,788| 2| 8 AE = 700 1347 1578 2| 4 10 H 700 1722 1,747 2| 3 HE 0’ 7.00 1384 1382
3| 10 R =% 600 1392 1581 3| 1 /BT FNEA 600 1459 1,768| 3 | 15 £ 1E— 600 1309 1534| 3| 5 X k& 600 1318 1337 3| 22 EE EE 600 1331 1,329
4| 12 /R F— 500 1358 1542 4| 23 Bk HL 500 1360 1648| 4| 17 BR BFE 500 1248 1462| 4 | 21 mA B 500 @ 1307 1326]| 4| 20 e R 500 1275 1273
5| 15 £l 1E— 400 1302 1478] 5| 21 B 87 400 1103 1337 5] 10 R =% 400 1182 1385 5| 11 s —% 400 1196 1214 5| 2 Hir &— 400 1210 1,208
6| 1 s —% 300 1123 1275| 6| 3 mA I 300 1059 1284]| 6] 9 FH @ 300 1174 1376 6 | 19 EO IEK 3.00 976 990 6 | 12 B F— 300 1117 1115
7 FH A 2.00 941 1068| 7| 24 Wy B 200 1026 1244 7| 7 Z2F "2 200 1081 1267]| 7| 24 Wy W 2.00 935 949 7| 14 =15 BE 200 1025 1,023
8| 13 | E— 1.00 935 1062| 8| 22 & EE 1.00 822 997| 8| 16 B% RE 100 1056 1238| 8| 13 WA E— 1.00 8.11 823| 8 | 23 Bk HL 1.00 926 924

— [C7nvy ] W [C7mv ] — [C7nvy ] W [C7nv ] — [C7nvy ]
oy BEFZ B | HEE | E=2(g) Toiry BEFA B | HEE | EE2(g) Tuiry EFZ B | HEE | E=2(g) Toiry EFA Bk | HEE | EE2(g) Tuiry BEFZ B | BEE | EZE(g)
1| 17 HR IBH 800 1807 1,717 1 6 Kk 8= 800 1636 | 2,109 1 | 11 e —% 800 1837 1869 1 2 Hf %— 750 1570 1,244 1| 18 Rk =— 800 1598 1318
2| 18 Rk F— 7.00 1650 | 1568| 2 | 14 =g BB 700 1392 1,795| 2 | 23 AlE ML 7.00  17.79 1810 1 6 K 8= 750 1570 1244 2 1 /NET - FBA 7.00 | 1568 1,294
3| 20 e KM 6.00 | 1538 1461| 3| 5 KEF EH 6.00 | 1337 1,723| 3| 12 BR F— 6.00 1450 | 1475]| 3| 14 =g BB 6.00 | 1460 1,157| 3| 16 BF RE 6.00 | 1373 1,133
41 21 fiE] A By 500 1236 1,174 4| 15 kB 1E— 500 1271 1638| 4| 4 Il ® 500 | 1343 1366| 4| 15 kB 1E— 500 | 1362 1079| 4| 8 RE F 500 | 13.08 1,079
5| 23 ABiE HA 400 | 1221 1160]| 5| 8 HE = 400 1202 1549 5| 20 e KM 400 | 1096 | 1,115 5| 7 R #Z 400 1142 905 5| 10 fH &% 400 | 1217 1,004
6| 24 W M= 300 1059 1006| 6 | 16 E% RE 300 1136 1464| 6| 3 mE 1\ 300 1002 1019] 6| 22 & EE 300 | 1078 854| 6| 5 X¥F EiE 300 | 1208 997
71 19 E/O &KX 2.00 759 721 7| 13 W\ E— 200 1031 1329| 7| 24 W = 2.00 766 779 7| 17 BiR BH 2.00 968 767 7| 21 fiE] A By 2.00 958 | 790
8| 22 & EE 1.00 7.31 6951 8| 7 R #Z 1.00 996 1284 8| 19 E/O &KX 1.00 728 14118 9 hH {#a 1.00 849 673| 8| 13 e E— 1.00 770 635




